
1463

CYLINDER JOINTS
CYLINDER ROD ENDS

/  1464
 1465

 1466
 1467

/  1468
·  1469

CAD

C

JC

SD

6 10

12 63

GA

6

B

Z

GT

WS

MT

RT

WT

YZ

ORV

ORC 10

ORCA
ORGA

ORK

ORC
63, 80

MRC
MRG

ORS
MRS

ORW
MRW

RAP

RAT

RAN

RAK

RAG

RWT

SHM

SHM

30RoHS

58

INDEX

1463



1464

1MPa
N N U mmC

-B JC

CJ-3×0.5

CJ-4×0.7

CJ-5×0.8

CJ-6×1

CJ -8×1-

CJ -10×1.25-

CJ -12×1.25-

CJ -14×1.5-

CJ -18×1.5-

CJ -22×1.5-

CJ -26×1.5-

M3×0.5

M4×0.7

M5×0.8

M6×1

M8×1

M10×1.25

M12×1.25

M14×1.5

M18×1.5

M22×1.5

M26×1.5

6

10

16

6

10

16

6

8·10

12

16

20

25

32·40

50·63

80

100

16

  20·25

25·32

40·50·63

16

20·25

25·32

40

32

40

50·63

80

100

20

25

32·40

50·63

 80

100

19.6

58.8

137.3

176.5

305 475.6

780.6

686.5

3026.3

1906.4

3026.3

4879.7

7624.7

3334.3

3334.3

5884

5884

20594

31381.3

449033.3

449033.3

62762.6

112776.5

122583.1

0.5

0.5

0.5

0.5

0.5

0.75

1

1

1.25

2

2.5

5

CJ

3×0.5 M3×0.5
4×0.7 M4×0.7
5×0.8 M5×0.8
6×1 M6×1

·

CJ-3×0.5 CJ-4×0.7 CJ-5×0.8 CJ-6×1

CJ

1
3

1
2 S

8×1 M  8×1
10×1.25 M10×1.25
12×1.25 M12×1.25
14×1.5 M14×1.5
18×1.5 M18×1.5
22×1.5 M22×1.5
26×1.5 M26×1.5

S
L

CJ-8×1 CJ 26×1.5

U
U

5
5

CJ-3×0.5 1,100
CJ-5×0.8 1,200
CJS-8×1 2,600
CJS-12×1.25 2,700
CJS-18×1.5 5,050
CJS-26×1.5 8,600

C

JC

SD

6 10

12 63

GA

6

B

Z

GT

WS

MT

RT

WT

YZ

ORV

ORC 10

ORCA
ORGA

ORK

ORC
63, 80

MRC
MRG

ORS
MRS

ORW
MRW

RAP

RAT

RAN

RAK

RAG

RWT

SHM

SHM



1465

kg

0.011 0.012 0.023 0.025

3×0.5 4×0.7 5×0.8 6×1

y q t e w r

K

K

K

K

K

K

No.

q

w

e

r

t

y

NBR

CJ-3×0.5 CJ-4×0.7 CJ-5×0.8

q t e w ru

y

K

K

K

K

K

K

K

No.

q

w

e

r

t

y

u

NBR

CJ -18×1.5 CJ -26×1.5

q t e w ru

y

K

K

K

K

K

K

K

No.

q

w

e

r

t

y

u

NBR

CJ-6×1

CJ-6×1 CJ -14×1.5

CJ-6×1

kg

8×1

0.05

0.10

10×1.25

0.10

0.21

12×1.25

0.20

0.26

14×1.5

0.21

0.47

18×1.5

0.36

0.95

22×1.5

0.67

1.93

26×1.5

1.27

2.52

8×1

0.055

0.09

0.090

10×1.25

0.105

0.17

0.165

12×1.25

0.213

0.36

0.272

14×1.5

0.24

0.39

0.49

18×1.5

0.41

1.00

0.95

22×1.5

0.75

1.69

1.96

26×1.5

1.18

2.32

2.57

CJS CJL

CJ -8×1 14×1.5

C

JC

SD

6 10

12 63

GA

6

B

Z

GT

WS

MT

RT

WT

YZ

ORV

ORC 10

ORCA
ORGA

ORK

ORC
63, 80

MRC
MRG

ORS
MRS

ORW
MRW

RAP

RAT

RAN

RAK

RAG

RWT

SHM

SHM



1466

U

0.5

0.75

1.0

1.5

M

A B C D E F G AA H I J L P T U

8

10

12

14

1

1.25

1.25

1.5

38

48

59.5

63.5

10

12

16

16

19

24

30

30

20

25.5

32

32

  4

  7

  7

10

5

6

7

8

12

14

17

19

22.5

29.5

34.5

38.5

40

44

44

60

52

56

56

80

25

32

32

38

40

50

61.5

65.5

7

7

7

11

6

9

9

12

 0.5

 0.75

 1.0

 1.0

CJS-8×1

CJS-10×1.25

CJS-12×1.25

CJS-14×1.5

G M M C

U
U

E F

AA
A

B

D
CJ-3×0.5

CJ-4×0.7

CJ-5×0.8

3

4

5

0.5

0.7

0.8

 23

 25.5

 33

5

5

7

12

12

14

13

13

15

7

8.8

 10.5

2.4

3.2

4

5.5

7

8

15.6

18.1

22.4

0.5

0.5

0.5

M
A B C D E F G AA U

mm

CJ-3×0.5 CJ-4×0.7 CJ-5×0.8
10 M6 1 M6 1 14

712 5

25.5
36

15

0.
5

0.
5

CJ-6×1

A
M

M

J E F

T

L

AA B

G

C

D

M

U
U

M

C

H I

2- P

CJS-8×1-3 CJS-10×1.25-3 CJS-12×1.25-3 CJS-14×1.5-3

A
M

C

M

U
U

C
BFE

AA

N
K

L

G

H

I

J

S
T

2- P

D

CJL-8×1-1 CJL-10×1.25-1 CJL-12×1.25-1 CJL-14×1.5-1

M

A B C D E F G AA H I J K L N P S T

8

10

12

14

1

1.25

1.25

1.5

47

57

70.5

72.5

10

12

16

16

19

24

30

30

20

25.5

32

32

13

16

18

19

5

6

7

8

12

14

17

19

30.5

37.5

44.5

46.5

26

26

26

36

44

44

44

64

15

19

19

22

48

59

70.5

83.5

59

71

82.5

98.5

25

30

30

45

9

9

9

11

23

29

29

34

3.2

5

5

6

CJL-8×1

CJL-10×1.25

CJL-12×1.25

CJL-14×1.5

CJ1 CJ1

CJ2

CJ3

C

JC

SD

6 10

12 63

GA

6

B

Z

GT

WS

MT

RT

WT

YZ

ORV

ORC 10

ORCA
ORGA

ORK

ORC
63, 80

MRC
MRG

ORS
MRS

ORW
MRW

RAP

RAT

RAN

RAK

RAG

RWT

SHM

SHM



1467

RS

RF

R
F

K K

LW

LA

LB LC

LH J LG

LF

LV LD

RT

RL

LE

LU
LU

 

4- RP

I

I J K LA LB LC LD LE LF LG LH LU LV LW RF RL RP RS RT

27

32

36

11

13

14

M18×1.5

M22×1.5

M26×1.5

77

93

109

31

38

44

46

55

65

38

49

57

64

77

90

14

16

21

21

25

30

13

16

19

1.25

2

2.5

29

34

44

27

32

41

50

62

70

79

95

111

11

14

14

  75

100

100

15

18

21

CJS-18×1.5

CJS-22×1.5

CJS-26×1.5

mm

CJS-18×1.5-3 CJS-22×1.5-3 CJS-26×1.5-3

K

LW

LA1

LB1 LC

LH1 J LG

LF

LV LD

LE

LU

I

LU

K QR

Q
S

Q
H

QF

QE

2

QF QC
QA

QL

Q
T

4- QP

I J K LA1 LB1 LC LD LE LF LG LH1 LU LV LW QA QC QE QF QH QL QP QR QS QT

27

32

36

11

13

14

M18×1.5

M22×1.5

M26×1.5

  88

105

122

42

50

57

46

55

65

38

49

57

64

77

90

14

16

21

21

25

30

24

28

32

1.25

2

2.5

29

34

44

27

32

41

89

99

103

45

49

53

60

68

68

32

36

36

28

35

42

153

176

193

11

14

14

16

19

21

 47

 59.5

 70.5

14

18

21

CJL-18×1.5

CJL-22×1.5

CJL-26×1.5

CJL-18×1.5-1 CJL-22×1.5-1 CJL-26×1.5-1

1 2

C

JC

SD

6 10

12 63

GA

6

B

Z

GT

WS

MT

RT

WT

YZ

ORV

ORC 10

ORCA
ORGA

ORK

ORC
63, 80

MRC
MRG

ORS
MRS

ORW
MRW

RAP

RAT

RAN

RAK

RAG

RWT

SHM

SHM



1468

0.97MPa

N
N g

6

10

16

6

10

16

6

8·10

12

16

20

25

32·40

50·63

80

100

16

20·25

20·25·32

40·50·63

16

20

25·32

40

32

40

50·63

80

100

27.5

76.5

195.2

305.0

475.6

780.6

780.6

3026.3

3026.3

4879.8

7623.7

1863.3

3334.3

5785.9

7355.0

14121.6

19711.4

23437.9

25497.3

31283.2

48641.0

50504.2

  10

  12

  18

  26

  45

  75

115

147

268

452

648

C
B

20

25

32·40

50·63

80

100

JC

M3×0.5

M4×0.7

M5×0.8

M6×1

M8×1

M10×1.25

M12×1.25

M14×1.5

M18×1.5

M22×1.5

M26×1.5

CRE-3×0.5

CRE-4×0.7

CRE-5×0.8

CRE-6×1

CRE-8×1

CRE-10×1.25

CRE-12×1.25

CRE-14×1.5

CRE-18×1.5

CRE-22×1.5

CRE-26×1.5

CRE

3×0.5 M3×0.5 3
4×0.7 M4×0.7 4
5×0.8 M5×0.8 5
6×1 M6×1 6
8×1 M8×1 8
10×1.25 M10×1.25 10
12×1.25 M12×1.25 12
14×1.5 M14×1.5 14
18×1.5 M18×1.5 18
22×1.5 M22×1.5 22
26×1.5 M26×1.5 25

M3×0.5 M26×1.5

11 6 100

CRE-3×0.5 850
CRE-5×0.8 950
CRE-8×1 1,150
CRE-12×1.25 1,450
CRE-18×1.5 3,450
CRE-26×1.5 8,300

C

JC

SD

6 10

12 63

GA

6

B

Z

GT

WS

MT

RT

WT

YZ

ORV

ORC 10

ORCA
ORGA

ORK

ORC
63, 80

MRC
MRG

ORS
MRS

ORW
MRW

RAP

RAT

RAN

RAK

RAG

RWT

SHM

SHM



1469

CRE-3×0.5

CRE-4×0.7

CRE-5×0.8

CRE-6×1

CRE-8×1

CRE-10×1.25

CRE-12×1.25

CRE-14×1.5

CRE-18×1.5

CRE-22×1.5

CRE-26×1.5

A B C D E F G K M N P U V W

  27

  32

  35

  39

  47

  56

  65

  74

  92

109

122

5.1

7.4

7.7

9

10.4

12.9

15.4

16.8

21.8

25.8

29.6

20

24

27

30

36

43

50

57

71

84

94

  8

10

11

13

16

19

22

25

31

37

42

14

16

16

18

22

26

30

34

42

50

56

 3

 3.5

 4

 5

 5

 6.5

 6.5

 8

 10

 12

 12

  6

  8

10

12

16

20

22

27

36

43

48

M3×0.5

M4×0.7

M5×0.8

M6×1

M8×1

M10×1.25

M12×1.25

M14×1.5

M18×1.5

M22×1.5

M26×1.5

 4.5

 5.2

 6

 6.7

 9

 10.5

 12

 14

 16.5

 20

 22

  6

  7

  8

  9

12

14

16

19

23

28

31

  3

  4

  5

  6

  8

10

12

14

18

22

25

 7.938

 9.525

 11.112

 12.700

 15.875

 19.050

 22.225

 25.400

 31.750

 38.100

 42.863

 6.5

 8

 9

 10

 12.5

 15

 17.5

 20

 25

 30

 33.5

  7

  8

  9

11

14

17

19

22

27

32

36

A

C

F

E

V

D
B

G K

M

E

A

C

F W

D

V

B

M

U

KG
PH9

N
-0

.1
3

0

PH9

N
-0

.1
3

0

U

W

mm

CRE-3×0.5 10×1.25 CRE-12×1.25 26×1.5

CRE-3×0.5

CRE-4×0.7

CRE-5×0.8

CRE-6×1

CRE-8×1

CRE-10×1.25

CRE-12×1.25

CRE-14×1.5

CRE-18×1.5

CRE-22×1.5

CRE-26×1.5

α 1 α 2 α 3
6

6

8

8

9

9

9

10

10

10

10

20

20

13

13

13

13

13

14

14

15

15

35

35

30

30

25

25

25

24

24

23

23

RODEND-1 RODEND-2

α1

α2

α3

C

JC

SD

6 10

12 63

GA

6

B

Z

GT

WS

MT

RT

WT

YZ

ORV

ORC 10

ORCA
ORGA

ORK

ORC
63, 80

MRC
MRG

ORS
MRS

ORW
MRW

RAP

RAT

RAN

RAK

RAG

RWT

SHM

SHM




